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Introduction
In the past few meetings, transient period and its location has been discussed extensively. This paper captures all of the agreements in previous meetings with proposals to the locations of the transient period. 
Discussion
In this section, the transient periods and their locations are discussed for various cases. 
ON-OFF transient period
The agreements noted in [1] and in chairman notes in RAN4-84 meeting [2] for Tx BW >1.4 MHz the ON-OFF transient period is 10 usec. 


Figure 1: ON/OFF mask for single sTTI for BW > 1.4 MHz

If 1.4 MHz BW is not required to be supported for sTTI, then the transient period for ON-OFF mask can be reduced from 20 usec to 10 usec. But if 1.4 MHz needs to be supported then transient period for ON-OFF needs to be 20 usec. 
Agreement 1 (for ON-OFF mask):  For sTTI
· For Tx BW>1.4 MHz, t1=10 usec
· For Tx BW=1.4 MHz, t1=20 usec

For consecutive TTIs
It has also been agreed in the previous meetings [2] that the transient period between consecutive symbols for sTTI will be 10+10 usec. These two symbols could belong to the same TTI or across TTIs and could contain SRS or not. The location of this transient period is defined in this section. 
Agreement 2:  Transient periods for consecutive symbols for sTTI will be 10+10 usec. 
There are multiple cases for consecutive TTIs as listed below: 
	Case
	Current symbol/ TTI
	Next symbol/TTI

	1
	2os/3os
	2os/3os

	2
	Intra sTTI 2os/3os/7os hopping

	3
	2os/3os
	1msec/7os

	4
	1msec/7os
	2os/3os

	5
	1msec/7os
	7os/1msec


Table 1: List of all possible cases for transient periods between consecutive symbols




















Proposal 1: Table 2, below, gives logic to decide the location for the transient periods for each of the above cases: 
	Case
	If condition
	Then?

	1, 2
	If the symbols across the transient are [R, R]
	Then share the transient period symmetrically

	
	Else if the symbol on the right of the transient is ‘R’
	Then irrespective of the symbol on the left, place the entire transient period in the right ‘R’

	
	Else if the symbol left of the transient is ‘R’
	Then irrespective of the symbol on the right, place the entire transient period in left ‘R’

	
	Else
	Share transient period symmetrically between the two symbols/TTIs

	3
	For all possible data patterns
	Place the entire transient period in right/next TTI

	4
	[bookmark: _GoBack]If the last symbol of current TTI is SRS and if the first symbol on the right sTTI is ‘R’
	Place the entire transient period in ‘R’

	
	Else if the last symbol of current TTI is SRS and if the first symbol on the right sTTI is ‘D’
	Share the transient period symmetrically between the two symbols/TTIs

	
	Else
	Place the entire transient period in current TTI

	5
	For all data patterns
	Treat this case similar to that of legacy 1msec+1msec TTI


Table 2: Proposals for the transient period location for various scenarios

Based on this logic, the transient period locations will be as shown below.






 Between two sTTIs of 2os or 3os without SRS








Between two 2os sTTIs with SRS













Between 2os and 1msec TTI








Between two 7os TTIs when the last symbol is not SRS
Transition period between two consecutive 7os TTIs when the last symbol of 7OS or 1msec TTI is not SRS is shown below. Similarly, the transient period between 7os TTI and 1msec TTI will be similar as well. 



Between two 7os TTIs when the last symbol is SRS 
Transient period should be placed outside of SRS as shown below. 


Between 7os TTI and 1msec TTI when the last symbol is SRS






Conclusion
In this contribution, the agreements from the previous meetings [1,2]: 
Agreement 1 (for ON-OFF mask):  For both 2os and 7os TTIs
· For Tx BW>1.4 MHz, transient time=10 usec
· For Tx BW=1.4 MHz, transient time =20 usec
 Agreement 2:  Transient periods for consecutive symbols for sTTI will be 10+10 usec. 
Also, this paper lists the locations of the transient periods for various scenarios have been proposed in Table 2.
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